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import java.lang.Math;

import java.util.Scanner;
public class Main
{
public static void main(String[] args) {
double start_x, step_x, X, V;
int i;
Scanner s = new Scanner(System.in);
System.out.printin("Please Enter start_x =");
start_x = s.nextDouble();
System.out.printin("Please Enter step_x =");
step_Xx =s.nextDouble();
for (Ii=1;1<=20; i++) {
X =start_x + (1 * step_Xx);
y = Math.sin(x);
System.out.printf("sin(%8.3f) = %8.3f¥n", X, y);
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import java.lang.Math;
import java.util. Scanner; B ik
public class Main

{

public static void main(String[] args) {

.dogble start_x, step_x, X, V; jF__/_I_\_ I\b\bd)
int i; .

Scanner s = new Scanner(System.in); F— DA
System.out.printin("Please Enw.
start_x = s.nextDouble();

System.out.printin("Please Enter step x =");
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step_Xx =s.nextDouble();
for (1 =1;1<=20; i++) {
X =start_x + (1 * step_Xx);
y = Math.sin(x); _
System.out.printf("sin(%8.3f) = %8.3f¥n", x, y):«— [H|[HIZ=7~
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java.lang. H
java.util.Scanner;
Main

main(
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[]1 args) {

= start_x, step_x, x, y;

i;
Scanner s Scanner(

out,println(“Plesse

start_x - s.nextDouble()

out.println(“Please

step_x - s.nextDouble();
(i e | AR ¢
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x start_x « (4 step_x);

y .sin(x);
Lout.printf("s

Program finished with exit code 0

Press ENTER to exit console
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Enter step
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start_x = s.nextDouble();

step_x = s.nextDouble();
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r (i = 1; 1 <= 20; i++) {
x = start_ x + (i * step x);

y sSin(x);
out.printf("sin(%8.3f) = %8.3f\n", X, y);
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.out.printf("sin(%8.3f) = %8.3f\n", x, y);
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Slack — Bring your team together with Slack, the collaboration hub for work.

Language -- select  _1

int main()

HTML,JS,CSS
Ruby

Perl

Pascal

R

Fortran

Haskell
Assembly(GCC)
Objective C
SQLite
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v input

Command line arguments:

Standard Input: @ Interactive Console O Text
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Main.java

java.lang. 3
java.util.Scanner;
Main

args) {

scaliier” > Sealiien | .in);
.out.println("Please Enter start x
start x = s.nextDouble();
.out.println("Please Enter step x
step x = s.nextDouble();
(1 =1; i <= 20; i++) {
X = start x (1 step x);
y .sin(x);
out.printf("sin(%8.3f) = %8.3f\n", X, y);
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i o LED

java.lang. -
java.util.Scanner;
] Main

":JlT.;:m- g :n'r_l;.l.f'

main( [] args) {
start_x, step x, X, y;
i;
Scanner s Scanner( .in);
out.println("Please Enter start x =");
start_x = s.nextDouble();
.out.println("Please Enter step x =");
step x = s.nextDouble();
(1=13; 1 205 i++) {

X start_x + (i step_x);
y .sin(x);
out.printf("sin(%8.3f

ETHEENIEND |
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B 2 | ®Debug | Mstop |

Main.java
1 import java.lang. 5
2 port java.util.Scanner;
3 1bli ' Main

f

id main( [1 args) {

B AN D
(OO0 ALCEET—F=E25ZB)

r(1 s 1 20y 1t+t) {
x =/tart x + (i * step x);
y = .sin(x);
out.printf("sin(%8.3f) = %8.3f\n", x, y);

L5
19

4

I Please Eliter start x =
0.4

bbeasemiftcer step X =

":JlT.;:m- g :n'r_l;.l.f'
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java.lang. s

java.util.Scanner;
Main

main( [] args) {
start_x, step x, v

o

e C O (BB AND &,

s.nextDouble()

out.println(“Plea :I:

step_x - s.nextDouble();

Bl ST EISRDRRSIND
X = start_ x + (1 ' s

y .sin(x);
out.printf(”s
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Main.java

rt java.lang. -
t java.util.Scanner;
lass Main

W N =

stati id main( [] args) {
Le start X, step_x, x, y;

) i_,

Scanner s = new Scanner( .in);

At A ntln/'"'NT AncA Chndnn cdand o
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.out.printf("sin(%8.3f) = %8.3f\n", X, y);

S et

D WO 0

Please Enter start x =
0.4
Please Enter step x =

I
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public static void main(Stringl] args) |
double start x, step v x ¥
int i
Scanni ow Scanner (Systen in) . . . — N\
System intin("Please Enter start x =) 7 W
start x = 5 nextDoubie! a I n ava ) d\ J %
System out printin("Please Enter step x =7) u
e x = 5 nextDubiel)
ar (i = 1. 1 & 20 1+) |
X tart x x step x
y = Nath, cos (x

@ javac AN > ROD=ELT

» javac Main. java

@ java O~N > RODOFEIT

>java Main
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sin( 0.400) = 0.389
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+COS(X);

.out.printf("cos(%8.3f) = %8.3f\n", x, y);

€U, cos(0.4) DIEZHEER LIRS,

0.400)
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